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Exercise 1. Solve the optimal control problem:
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Exercise 2.  A simple controlled dynamical system is modeled by the equation: 
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. We want to find a control function 
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is minimized. Use the maximum principle to solve the problem.
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Exercise 3. Solve the optimal control problem:
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Exercise 4.  By using the continuous Dynamic Programming Method, solve the problem:
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Suggestion: In order to solve the HBJ equation, use as candidate solutions, polynomials of the form: 
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 , where α,β,γ,δ,φ,ν undetermined constants.
Answer:
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